BEHMBRIEE |

TH4 | TH2SEE HHAEFR ANSEEHIE(Z02) L =5
TiE-1250- M3l o) % B S raeys| EE HE
RKBEKERET
RZKBEKERBET
PUISOY L—F LI EHE m 52.7
HET
HiE-RHIGHE
TREZIE m 1,439.9
TERET RC-30 t=13cm m 1,439.9
tEmRET RM-30 t=10cm m 1,439.9
=BT BRABTRI7ILE t=4cm m 1,439.9
EEEY m3 115.2
SRR
TERET RC-30 t=10cm m 1,843.5
=BT BABTRAI7ILE t=3cm m 1,843.5
EEEY m3 2413
iR it m 16.6
RS BFA m 19.6
Gz =
HitHJovy N 40.0 EIE 1 XE(CDE2K
Bk EX-81043 (P200%H450 A[E= #FAETRMA) PN 2.0
B FA/NGER m 65.1 A/ * 3.1m/Ax7 & FF
X E R
AR E R B 7 - E4RW=45cm m 22.6
AR X B B #7 - E4RW=15cm m 189.7
ARAXELR +7530cm m 8.4
BE X B BRI —9 (W=15cmi B IER) m 3.2
MT
T = 1.0
ns T
HInyn m3 356.5 SEFELZT




I N HE_ %
Tl B K& O Al 5 RIZKHEAKER T AN
400
JL—F 7 (PU240 - PULS0) 3EH] - #HIE
/ RERRUF 1 v 7 (PU240 - 150)
\ (- {H100m 4 )
Hh Z2 JEARSTE AR S
IABLHK L=0. 8m KH=12cm m3| 1.15
% t=3cm w=15cm L=2. Om|m3]|0.9
FIS &1 P4X100~150mm kgl 6.5
104720
4 FR itk - ik L =X Hir |[#% &
PU150
Jv—F ) m 52.7




TFRAI7IVNHE TSR

A IR g = = | B
BRETAT7ILRA
(AR -EIE15) t=4cm [MEER T EIRI KLY (CADEHAIIZ LKD) 1,439.9 m
=3
(RM-30 t=10cm) [XTERIEOIEIECBR 20Ll.E 1,439.9 m
EESA
(RC-30 t=13cm) |CBR=4(RFE:EMI_HERAEEITI) 2HEE27c( 14399 m
BRB7AT7ILEB|EERFEmR &Y (CADEHAL, #EE L5 (XA
(B SHEER) 187.5+332.8+12.9+1218.8+91.5 1,843.5 m
N =F3
(RC-30 t=10cm) 1,843.5 m
T T GEZERY) BB A 241.3 m3

HEARR-ETEHIS

T T GEZERY) 1439.9%0.08 115.2 m3




HOAIR M A B O E Y Bt R
M) K O Al B BRET X7 v MEiEE— A (HOE - SRR AN

100324 v
4 R Bk - gk A 7 E2AE " &
EPSE)
7277k t=4cm n 100. 000
RM=30
g t=10cm ni 100. 000
RC-30

TJE i t=13cm n 100. 000




m 100. 000

N - HE
Fa OB KON H B BAREAT AT 7L hEEEE— B ([EEER) N
100324 Y

4 PR - Bk B 7 HAL 3K g
EPSE)

72770k t=3em 100 n 100. 000

RC-30
R A t=10cm |100 i




R RS (L& TR )

PR (EXHW)
T LR [HiAE Y R | SRR B HI R~
No.O 0.000 0.450 7T = A=A —FH
No.1 20.000 0.170 0.310 6.200 1, 218.8n+91.5ni+187.5+12.9nt
No.2 20.000 0.169 0.170 3.390 EH4EE (3+10=13cm)
No.3 20.000 0.164 0.167 3.330
No.4 20.000 0.168 0.166 3.320 [5e] B% HL Y
No.5 20.000 0.196 0.182 3.640 (1,218.8+91.5+187.5+12.9)%0.13
No.6 20.000 0.171 0.184 3.670 =196.391m3
No.7 20.000 0.060 0.116 2.310
No.8 20.000 0.170 0.115 2.300
No.8+9.75 9.750 0.098 0.134 1.307 ] B R X H D - B
No.9 10.250 0.117 0.108 1.102 44.868+196.391=241.259m3
No.10 20.000 0.167 0.142 2.840
No.11 20.000 0.168 0.168 3.350
No.12 20.000 0.207 0.188 3.750
No.12+7.5 7.500 0.696 0.452 3.386
No.12+9.65 2.150 0.209 0.453 0.973
44.868
iR Z s (FALH)
B JER [H=l AR B | A
No.0 0.000 0.000
No.1 20.000 0.083 0.042 0.830
No.2 20.000 0.042 0.063 1.250
No.3 20.000 0.026 0.034 0.680
No.4 20.000 0.056 0.041 0.820
No.5 20.000 0.063 0.060 1.190
No.6 20.000 0.076 0.070 1.390
No.7 20.000 0.098 0.087 1.740
No.8 20.000 0.070 0.084 1.680
No.8+9.75 9.750 0.000 0.035 0.341
No.9 10.250 0.010 0.005 0.051
No.10 20.000 0.016 0.013 0.260
No.11 20.000 0.250 0.133 2.660
No.12 20.000 0.087 0.169 3.370
No.12+7.5 7.500 0.609 0.348 2.610
No.12+9.65 2.150 0.103 0.356 0.765
19.638
g (AL - #ik1)
B ER: [H=l EINE B | A
No.0 0.000 0.000
No.1 20.000 0.177 0.089 1.770
No.2 20.000 0.059 0.118 2.360
No.3 20.000 0.030 0.045 0.890
No.4 20.000 0.051 0.041 0.810
No.5 20.000 0.118 0.085 1.690
No.6 20.000 0.150 0.134 2.680
No.7 20.000 0.173 0.162 3.230
No.8 20.000 0.127 0.150 3.000
No.8+9.75 9.750 0.156 0.142 1.380
No.9 10.250 0.190 0.173 1.773
No.10 20.000 0.050 0.120 2.400
No.1 1 20.000 0.367 0.209 4.170
No.12 20.000 0.137 0.252 5.040
No.12+7.5 7.500 0.884 0.511 3.829
No.12+9.65 2.150 0.277 0.581 1.248
36.270 k4 16.632 [ nd
FFIH 19.638 [nd




B T (t=10cm)

17 B IR [ s (i3 TRCRG TR

I JE & & B g B | s
No.O 0.000 0.000
No.1 20.000 3.460 1.730 34.600
No.2 20.000 1.200 2.330 46.600
No.3 20.000 1.200 1.200 24.000
No.4 20.000 1.200 1.200 24.000
No.5 20.000 1.200 1.200 24.000
No.6 20.000 1.200 1.200 24.000
No.7 20.000 1.200 1.200 24.000
No.8 20.000 1.200 1.200 24.000
No.8+9.75 9.750 1.200 1.200 11.700
No.9 10.250 1.200 1.200 12.300
No.10 20.000 1.200 1.200 24.000
No.11 20.000 1.200 1.200 24.000
No.12 20.000 1.200 1.200 24.000
No.12+7.5 7.500 1.200 1.200 9.000
No.12+9.65 2.150 1.200 1.200 2.580
332.780
#FE 1T (t=3cm)
T LR LUFIS g B | s
No.O 0.000 0.000
No.1 20.000 3.460 1.730 34.600
No.2 20.000 1.200 2.330 46.600
No.3 20.000 1.200 1.200 24.000
No.4 20.000 1.200 1.200 24.000
No.5 20.000 1.200 1.200 24.000
No.6 20.000 1.200 1.200 24.000
No.7 20.000 1.200 1.200 24.000
No.8 20.000 1.200 1.200 24.000
No.8+9.75 9.750 1.200 1.200 11.700
No.9 10.250 1.200 1.200 12.300
No.10 20.000 1.200 1.200 24.000
No.11 20.000 1.200 1.200 24.000
No.12 20.000 1.200 1.200 24.000
No.12+7.5 7.500 1.200 1.200 9.000
No.12+9.65 2.150 1.200 1.200 2.580

332.780




N - B E
Fi B & OY K B dIEL AN N
— SN NN
10m4Y

4 N AN B 7 E2AE S i
P B 0.21%10.0 =2. 100 n 2.100
ERE [90x90x45

(a7 e Fme s v {10, 0= (0. 09+0. 01) %251 =200. 000 & 200. 000
LA L 0. 21%10. 0%0. 04-0. 09%0. 09%0. 03%200 =0. 035 m3 0.035
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7y (7 —, BHEx Y v 73 & 10. 00
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100 X 3.

2 2- 13 X150 LEH 2
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3
PCar sy — b
=
2|
=
13.2 Flb RS N

2 FBE 3. 2 MM G A v
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100

1T V=T
116,

6240

b 350

1044 D
4 R Bk - gk = E2AE " &
G200 |mmiEn, vy v ttlg
ENIRS H450 & 10. 000
e t=10cm
RC-40 ®350 |[(x*0.3572/4)%*0. 1x10 =0. 096 n 0. 096




N - HE
Fi B K O B KRR T TN
140

4 R Bk - gk A 7 E2AE " &
ST S BTk

W=45cm |0. 65m*44+5. Om*k4 A =22. 600 m 22. 600
PHERR | -

W=15cm |5. Om*19748+2. 35m*194<+50. Omx 1 A< =189. 650 m 189. 650
XHE#E | 7 F

W=30cm |0.9%4+0. 7+0. 5+0. 9*4 =8. 400 m 8. 400
TR ES]ES

RN —T W=150mTﬁ%ﬁ§E:§ m 3. 200




CHENE T R N HE X
FE OB M O A B OFR ALY AN
14720

4 A RN B = EXAE:S =
AR - B

FIEIR 115. 192 m3 115. 192
] 45 T )

IR T =241.259|  m3 241. 259
A&

(F% 145y) 115. 192+ 241. 259 =356. 451  m3 356. 451




HOAIR M A B E Y BE X

FE Bl K O Al hl MET AN

7o 30 BB FEME - A UERY
H— R 7 (R - HEEREAA - C-1/2)
S=1/25 + A
Gp—Cp—2E
"R |
1720
4 N RN A 7 E2AE" &
H— R T
Bix Gp—Cp—2E m 60. 000
HOKHE

Bk D20 % Pt 1.0




I ¥ B & 5t ¥ &

No. 1
BINE H= B |BAGIHY [1EEYV EEE |FEBH wE
£ X S| B %
DT10t 356.500] m3 10.989| 1.000 32.440 9.1H/100m3=(11.0m3/H)

32.440

=33A




	数量計算書2
	数量計算書3
	数量計算書4
	数量計算書5
	数量計算書6
	工程計算

